N = 0 &8 A S H A A
2024 204 QI2SHIISELESH AAM
A= SLH2A= M AZ =X
M JIZMESI(AISI 2K/ =MEE A
CHol: HASESZ0NA(A2Z0IIZSLEH) CERE)
AT .24 - Y. C(BH) - MBAY - BES Ofl Ao dels HDE2
a=- = 5. TAE - BLS . ol &2 S2
SXHL= 722,204,000 757,957,000 N35,753,000
= 593,763,700
= 128,440,300
NS E==PNIN); 722,204,000 757,957,000 A35,753,000
= 593,763,700
= 128,440,300
I ZMEH A (A EX /I =MEBE) 722,204,000 757,957,000 A35,753,000
= 593,763,700
< 128,440,300
HNASE9 220X (Y22 0II2ELE I H) 722,204,000 757,957,000 N35,753,000
= 593,763,700
= 128,440,300
28l EHIS/AE 712,198,625 748,348,118 N36, 149,493
= 585,759,400
& 126,439,225
308 AHXISHHMSO0I A 712,198,625 748,348,118 N36, 149,493
= 585,759,400
& 126,439,225
13 BI|2SH S E A S EAIHHI 712,198,625 748,348,118 N36, 149,493
Oel2320 & Z | 709,865,625
= 583,893,000
& 125,972,625
DA ME S| 2,238,000
= 1,790,400
= 447,600
OGN SE = H| 95,000
= 76,000
& 19,000
SZ 2N ZAARE LS 1,400,000 1,320,000 80,000
= 1,120,000
< 280,000
201 LBt AY| 1,400,000 1,320,000 80,000
= 1,120,000
= 280,000
01 At22t2|d| 1,400,000 1,320,000 80,000
OgHi~=2H| 1,400,000
O 2SR SHIMAIRE =S 1,400,000
= 1,120,000
& 280,000
oZZ2HZAAXNRAASE 15,000 15,000 0
= 12,000
= 3,000
201 LBt AY| 15,000 15,000 0




A= SXAHE= M ARSI
M JZMEEEH(AZSX/IZHESE)
Cel: HASZ2SUX(ARSUIIS=L3IH) (Eho|: =)
AR 24 ZE - BRA(SH) - NRAY - BSES Ofl bt Lo RS2
S oA s o S e el = Ol & =
= 12,000
= 3,000
03 A2 EHI 15,000 15,000 0
el 22 ANAIE 15,000
= 12,000
= 3,000
NZdz2280i13243 810,000 810,000 0
= 648,000
& 162,000
308 R XICHMIS Ol & 810,000 810,000 0
= 648,000
& 162,000
01 AXHMBAEES 810,000 810,000 0
OAZe=300I3249 810,000
= 648,000
& 162,000
ozanizs3a=0 7,705,375 7,393,400 311,975
= 6, 164,300
L= 1,541,075
308 RXIEHMIS Ol & 7,705,375 7,393,400 311,975
= 6,164,300
& 1,541,075
01 RXHMBIANEES 7,705,375 7,393,400 311,975
Es0dEs=20 7,705,375
= 6,164,300
& 1,541,075
HASEAZSHAME =X 75,000 70,482 4,518
= 60,000
L= 15,000
201 LBH2&d| 35,000 30,000 5,000
= 28,000
& 7,000
01 At 2teltl 35,000 30,000 5,000
O et~=2H| 30,000
Oz 2HAIH LBI=ZH| 30,000
= 24,000
& 6,000
=&l 5,000
Oodz2 = A =& 5,000
= 4,000
& 1,000
202 44l 10,000 10,000 0
= 8,000




A2 =xAY2 S A=K
M I ZMEEEH(AZSX/IZHEEE)
HASZOI2Z0INA(ARS0IIZ=E3H) el &
AT 24 FE - GI(EN) - HRAY - BES S =
< 2,000
01 =LHAHI 10,000 10,000
S SHAIL AR F A 10,000
= 8,000
& 2,000
305 HHa =& 30,000 30,482
= 24,000
= 6,000
01 ia=s 30,000 30,482
CIEchii &3 Y20t a 2 30,000
24,000

hoH

6,000




